wio National “Brand &, o it r A

A miClowave beam 15  neime /'/7 incidear LHomm aie ondo
F‘”(bc-HT Srooth  See watte . 14 The inCident begen hags
B poutr of 10w Ermd fhre Sewrtr ad a C{ﬁf‘ﬁ’ af S

L0 o freqwenc, of Lz 1by and (= lml,

USe E(:JI , T:q S/"V\

Eind the fransmiss en coeffic:Cqd i

ey S
T e e
= 01”}2 i-v - Bl -’h, — 5.00
- Sdry\ i - baitf-
fnl + 4’)| ﬂ]z 'rq'}‘ \v E::“
— Powrl
e M . 3777 detee by
€
i f%
&
{ = E( = s
. 766 - 48
= [ <12 - '/“i
(254 wes' )(&1) ;'lnﬂo’/

= 717 6" —ﬁ;' 6.3 7o

R E

o
M - / 7”?(0-7

"l e ————— = 0;031? +?-0,0§l7
J Tetles’® ._;' é.37vs”

A\

{1\ ( 0.0 34+ ;‘orogr‘r)
377,031 44 ewoliy

TeE LE? mo"’ f;’ 6675 %"

Now ek  with power

iz - & - ‘ ;
T2 177 7 55€ws Pewer tesmiled infp  wake
loss  of peredr Lrom t"-rqvef f’m‘cJ 7"2!’9#55’1 Mrﬂr
- = -r3
E-f e ,
(= {~wlu€ = 24257 7 6,357

-y (& g
Do eAr rc.ES' (e J - e

ewpfeCoaasa)(9 ] ©  347%0

-5 e = :
Porec recewed = (low)( 5 SEwe ) (3. 49 I 58 nw



A= National "Brand 0. o0

NOW S teh  Fes I M ]'_)2
Er = 707 %e'® - a & 2107

My T 091 t4 099

Tz 00853 -}9{0.5052
Tz 5.5r0”

= 397144 3a¢

Receved pewer = (o)(s Sxo¥) ewzqggff‘a?v,@fﬂ] :3,15ﬂaj?’w



